MODEL ANSWERS (A)
I. Each item is allotted 6 marks except 4 and 5 each is allotted 5 marks. (Overlook copying mistakes)

1. It takes place in dry areas where there is no rain and the weather is harsh.

2. It refers to Desertification.

3. In order to survive.

4. Any suitable answer.

5. grazing .

6. Human activities (The activities of human beings) are the real cause of desertification.
7. One billion (a sixth) of the world's population is affected be desertification .

1. Each item is allotted 6 marks. (8-11 Overlook copying mistakes. 12-13 Overlook grammar mistakes)
8. usually sleep 8 hours ©.

9.Bothaandb

10. Treadmills

11. blindfold

12. will not float out of them in their sleep.

13. Weaken very quickly .

111, Each item is allotted 6 marks. N.B. No.14 If the student writes (is) his answer rates 4 marks.
14. the 15. be 16. On

1V. Each item is allotted 6 marks. (Overlook copvindg mistakes and capitalization
17. brought 18. mad 19. germs 20. times

V. Each item is allotted 8 marks. (Deduct 2 marks for wrong question word and 2 marks for grammar mistake).

21. When was the Eden project opened? / What was opened in 2000?

22. Why do millions of visitors come here every year? How many visitors come here to see plants from all over
the world?

23. What is the purpose of the project?

24. Any logical answer is accepted.

V1. Each item is allotted 8 marks.

25. 1 wish going to the theatre wasn't expensive. | wish going to the theatre was cheap/ cheaper.

26.1 wish 1 could sing well.

27. 1 wish people wouldn't drive so/too fast in the city centre. / | wish people would drive slowly.

28. | wish we didn't / wouldn't have to get up early this morning

VI1I. Each item is allotted 7 marks. Deduct 4 marks if 29 (past simple).

29. present simple / future simple

30. conditional sentence type 2

VI, _Each item is allotted 6 marks. (Overlook copying mistakes

31. with 32. earnings 33. because
IX-_Each correct answer is allotted 6 marks.

34. Has been swimming / has swum
35. were playing
36. hadn't seen / Past perfect

X-The statement is divided into two units. Each unit is allotted 5 mark. Each unit is treated separately.
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The statement is divided into two units. Each unit is allotted 4 marks. Each unit is treated separately.
38. Some human activities destroy/ are destroying/ the natural world.

COMPOSITION: 50 marks. Overlook the first two spelling mistakes. Then. deduct one mark for each
spelling or grammar mistake.



MODEL ANSWERS (B)
I. Each item is allotted 6 marks except 4 and 5 each is allotted 5 marks. (Overlook copying mistakes)

1. to make more farming land.

2. loggers sell the valuable tropical hard wood.

3.1t leaves the land dry and dusty.

4. global

5. improve

6. Ranchers clear the land for their cattle. Oil companies try to find more oil.
7. Clearing the areas will be harmful to the global environment .

1. Each item is allotted 6 marks. (8-11 Overlook copying mistakes. 12-13 Overlook grammar mistakes)
8. maintain

9. few

10. involves

11. purification

12. are as small as possible

13. the means for a human to live for few hours (such as oxygen).

111, Each item is allotted 6 marks. N.B. No.14 If the student writes (is) his answer rates 4 marks.

14. which 15. an 16. |
1V. Each item is allotted 6 marks. (Overlook copving mistakes and capitalization
17. work 18. careful 19. carried 20. person

V. Each item is allotted 8 marks. (Deduct 2 marks for wrong guestion word and 2 marks for grammar mistake).
21. Where did your brother travel? Who travelled to England?

22. What did he study there? Where did he study medicine?

23. When will he come back?

24. Any logical answers are accepted?

VI. Each item is allotted 8 marks.

25.1 wish the city centre wasn't busy.

26. 1 wish he would give me my CD back. | wish he gave me my CD back.

27. 1 wish people wouldn't / didn't drive so/too fast in the city centre. (1 wish they drove slowly..)

28. 1 wish our city would collect /collected/ did collect rubbish

VII. Each item is allotted 7 marks. Deduct 4 marks if 29 (past simple).
29. Past simple.

30. conditional sentence type 1.

VI, _Each item is allotted 6 marks. (Overlook copying mistakes

31. quily 32. Red 33.to
1X- Each correct answer is allotted 6 marks.

34. has written
35. arrived
36. hadn't seen

X-The statement is divided into two units. Each unit is allotted 5 mark. Each unit is treated separately.
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The statement is divided into two units. Each unit is allotted 4 marks. Each unit is treated separately.
38. We have to teach / educate our children /// how to preserve / protect the natural environment.

COMPOSITION: 50 marks. Overlook the first two spelling mistakes. Then, deduct one mark for each
spelling or grammar mistake.



